LAY S 532/533/534/535%5%1

* E6g
* TFAISO1502%54E
+ EEHRC60-62

532-020-01 533-020-01
FRAERREL
$5(GO) $%5S5(NOGO) | #i&(mm) $35(GO) %55 (NOGO) | ##&(mm) $5(GO) $35(NOGO) F4&(mm)
532-002-01 533-002-01 M2x0.4 532-010-01 ' 533-010-01 M10x1.5 532-030-01 | 533-030-01 M30x3.5
532-002-21 533-002-21 M2.2x0.45 532-012-01 533-012-01 M12x1.75 532-033-01  533-033-01 M33x3.5
532-002-51 533-002-51 M2.5x0.45 532-014-01 533-014-01  M14x2 532-036-01  533-036-01 M36x4
532-003-01 533-003-01 M3x0.5 532-016-01 533-016-01 M16x2 532-042-01  533-042-01 M42x4.5
532-003-51 533-003-51 M3.5x0.6 532-018-01 533-018-01 M18x2.5 532-048-01  533-048-01 M48x5
532-004-01 533-004-01 M4x0.7 532-020-01 533-020-01 M20x2.5 532-052-01  533-052-01 M52x5
532-005-01 533-005-01 M5x0.8 532-022-01 533-022-01 M22x2.5 532-060-01  533-060-01 M60x5.5
532-006-01 533-006-01 M6x1 532-024-01 533-024-01 M24x3
532-008-01 533-008-01 M8x1.25 532-027-01  533-027-01  M27x3
2 SFEZLL
=1(c]0)] %=(NOGO) | #4&(mm) £35(GO) $5=(NOGO) | #14&(mm) $5S(GO) £%=(NOGO) A& (mm)
534-002-01 535-002-01 M2x0.25 534-018-01 535-018-01 M18x0.5 534-039-01 | 535-039-01 M39x1
534-002-21 535-002-21 M2.2x0.25 534-018-02 535-018-02 M18x0.75 534-039-02  535-039-02 M39x1.5
534-002-51 535-002-51 M2.5x0.35 534-018-03 ' 535-018-03 = M18x1 534-039-03 | 535-039-03 M39x2
534-003-01 535-003-01 M3x0.35 534-018-04 535-018-04 M18x1.5 534-039-04  535-039-04 M39x3
534-003-51 535-003-51 M3.5x0.35 534-018-05  535-018-05 M18x2 534-042-01 | 535-042-01 M42x1
534-004-01 535-004-01 M4x0.5 534-020-01 535-020-01 M20x0.5 534-042-02  535-042-02 M42x1.5
534-005-01 535-005-01 M5x0.5 534-020-02 = 535-020-02 MZ20x0.75 534-042-03 | 535-042-03 M42x2
534-006-01 535-006-01 M6x0.5 534-020-03 535-020-03 M20x1 534-042-04  535-042-04 M42x3
534-006-02 535-006-02 M6x0.75 534-020-04 535-020-04 M20x1.5 534-042-05 | 535-042-05 M42x4
534-007-01 535-007-01 M7x0.5 534-020-05 535-020-05 M20x2 534-045-01  535-045-01 M45x1
534-007-02 535-007-02 M7x0.75 534-022-01 535-022-01 M22x0.5 534-045-02 | 535-045-02 M45x1.5
534-008-01 535-008-01 M8x0.5 534-022-02 535-022-02 M22x0.75 534-045-03  535-045-03 M45x2
534-008-02 535-008-02 M8x0.75 534-022-03 535-022-03 M22x1 534-045-04 | 535-045-04 M45x3
534-008-03 535-008-03 M8x1 534-022-04 535-022-04 M22x1.5 534-045-05  535-045-05 M45x4
534-009-01 535-009-01 M9x0.5 534-022-05 535-022-05 < M22x2 534-048-01 | 535-048-01 M48x1
534-009-02 535-009-02 M9x0.75 534-024-01 535-024-01 M24x0.75 534-048-02  535-048-02 M48x1.5
534-009-03 535-009-03 MOx1 534-024-02 535-024-02 M24x1 534-048-03 | 535-048-03 M48x2
534-010-01 535-010-01 M10x0.5 534-024-03 535-024-03 M24x1.5 534-048-04  535-048-04 M48x3
534-010-02 535-010-02 M10x0.75 534-024-04 535-024-04 < M24x2 534-048-05 | 535-048-05 M48x4
534-010-03 535-010-03 M10x1 534-027-01 535-027-01 M27x0.75 534-052-01  535-052-01 M52x1
534-010-04 535-010-04 M10x1.25 534-027-02 = 535-027-02 @ M27x1 534-052-02 | 535-052-02 M52x1.5
534-011-02 535-011-02 M11x0.75 534-027-03 535-027-03 M27x1.5 534-052-03  535-052-03 M52x2
534-011-03 535-011-03 M11x1 534-027-04 535-027-04 M27x2 534-052-04 | 535-052-04 M52x3
534-012-01 535-012-01 M12x0.5 534-030-01 535-030-01 M30x0.75 534-052-05  535-052-05 M52x4
534-012-02 535-012-02 M12x0.75 534-030-02 ' 535-030-02  M30x1 534-056-01 | 535-056-01 M56x1
534-012-03 535-012-03 M12x1 534-030-03 535-030-03 M30x1.5 534-056-02  535-056-02 M56x1.5
534-012-04 535-012-04 M12x1.25 534-030-04 ' 535-030-04 M30x2 534-056-03 | 535-056-03 M56x2
534-012-05 535-012-05 M12x1.5 534-030-05 535-030-05 M30x3 534-056-04  535-056-04 M56x3
534-014-01 535-014-01 M14x0.5 534-033-01 ' 535-033-01  M33x0.75 534-056-05 | 535-056-05 M56x4
534-014-02 535-014-02 M14x0.75 534-033-02 535-033-02 M33x1 534-060-01  535-060-01 M60x1
534-014-03 535-014-03 M14x1 534-033-03 ' 535-033-03 M33x1.5 534-060-02 | 535-060-02 M60x1.5
534-014-04 535-014-04 M14x1.25 534-033-04 535-033-04 M33x2 534-060-03  535-060-03 M60x2
534-014-05 535-014-05 M14x1.5 534-033-05 ' 535-033-05 M33x3 534-060-04 | 535-060-04 M60x3
534-016-01 535-016-01 M16x0.5 534-036-01 535-036-01 M36x1 534-060-05  535-060-05 M60x4
534-016-02 535-016-02 M16x0.75 534-036-02 535-036-02 M36x1.5
534-016-03 535-016-03 M16x1 534-036-03 535-036-03 M36x2
534-016-04 535-016-04 M16x1.5 534-036-04 535-036-04 M36x3






